


represents equal

equivalent altogether

multiple group

greater array

sharing columns

total divided

partition rows

product times

Year  3 – Spring- Length 

and Perimeter

Vocabulary

,

36

12 12 12

36 ÷ 12 = 
3



How do you know this?

I think this because …

The strategy I used was …

I agree with the answer because …

I disagree with the answer because …

___ has been shared equally into ___ 

equal groups

The question is sharing/grouping 

because…




































